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(k¢ S EARSHE | HEASE R,
(2)EL I 5L C, £ T A, BWE, BA B SN RMHMA TR 0,.0,,58 6, +6, II{E.
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[T BB A={x10<x <2} ,B={xlx<<l| ,BFLLANB ={x10<x<<1} i3k A.
2. [E%]C
[ffﬁ%ﬁ]j’wjz:lz_ii+2i:(12_i(i§(+lili) +2i=i-1+42i=-1+3i, L)z BEER M 3, %k C.
3. [&%]D
[ 4T ) A @ =sin 230°<0,b =log, 1,2 023 >log, 1,2 022 =1,0 <c=2""" <2 =1, a <c < b, #3%k D.
4. [F%R]C
[ b ) EiX 12 A~ H b 30 RV S s A BE [R] b BEHC SRR /D BRI IRl 0. 9% ,0. 9% ,1. 5% ,1. 6% ,
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P h'(x) :el(%-lrln :t:) —g'(x) =ex(§+ln :x:) —e'ln x =%}0,ﬁﬁ‘lﬂ h(x)7E(O0, +o0) FHJHEIE, L A(1) =

—2(1) = —ef(1) =0, Y xe (0,1) B h(x) <0,f " (x) <O, f(x) AP M xe (1, +0) B, h(x) >0,
S (x) >0, f(x) B, By L f(o) AR ZAME N /(1) =0, ok KAE , #3E D.

13. [ZF%][1, +x)
[T A (x| + 1 =1, FrLASEAL o ABUETEREIA[L, + o).

4. [A%]4
[ T ] AR a0, SUHHZR C ) — S5 R AR y =, 60 a = b, B SEH N 2a =26 = 4.
1
15. [’%3%]'3—

[ 8T ] S BB A — e A IR AR : (1) BE A ANBOy 1,1,3 i, I L0qE 3 N4, W k%L
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Fl— IR J7 0N n = 18 + 18 =36. 25T 4N FNEUKAR , I Z SR AENEVK R , LI TN m = CIAT +

~1 42 \ 12 1
CLA2 =12, R R Ky P =" = 2 = —
n 36 3

16. [ZZ%£)10w
[ fdr ) ani&l B AC b s E AB Wvh i FL %4 EF DE. X2 AD = CD, fif L), DE 1
AC RN BC LAC ,EF//BC, il EF 1 AC, L 2 DEF =135°. i &5 E {E OE | VT
DAC , 3 5 F {F OF | Y1 ABC,0E N OF =0, 5K 15 E, F 5351l i ADAC 1 AABC 11y

SO, BFLLE O S =HHE D - ABC WAMEBRIGER.C. B AD =3, fif L AC =./6 , BC

=2 AB =22 L) Eﬁzé—ﬁcz“‘g, / OEF =45° i) OF = EF =“‘/2——2_,AF=%AB
A
=2 FTLL OA = JOF? +AF? = /%. W =#cHE D — ABC (AMESRIER R = /% T AAMERR R AR S =
4mR* =101
[iE52m0] ]

155 13 /N B2 R A7 TR 4440
5 55 15 /NG ,%%%‘—%’Jﬂz%,ﬁﬁ%i%%,m%éﬁﬁ.

17. fif . (1) D, H E 18 3absin C =4bccos A, (2 43)
Firl) 3asin C =4ccos A,
M 1F 5% 52 P15 3sin Asin € =4sin Ccos A,
X Ce(0,m), L) sin C >0,
L 3sin A =4cos A,D)(5 43)
W sin®A +cos’A=1,2)

D, @K A € (0,m) % sin A =5 (6 4)

2D, 2 H & F 3% 52 F15 3sin Asin B +4sin Acos B =4sin C, (2 4})
Jit LA 3sin Asin B +4sin Acos B =4sin(A+B), (3 43)

JiT L) 3sin Asin B +4sin Acos B =4sin Acos B +4cos Asin B,

fif 1L 3sin Asin B =4cos Asin B,

N Be(0,m), L sin B>0,FfL) 3sin A =4cos A,D(5 43)

Y sin’A +cos’A=1,2)

\ IS

02D, QUK A e (0,m) , 8 sin 4= 2= (6 4)

(2) B AABC BT R 2,%;—5;%111 A= %bc Z2 R be =5 (T 43)

3 3

H (1) AJ45 cos A ZIsin A :?,(8 45)

B 26 —d° _f}z +¢ -16

2bc 10

EH%?‘ZE}E?% COS A= g ,(10 /)"})
FrLl b*+e” =22,
FRLL b +e= /b +2bc+c” =42 ,(11 43)

FrLLAABC IR a+b+c=4 +4.2. (12 4})
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[iE4>4mmy ]
LS5 (1) /N 53, IEZ e B S X T A8 2 43w AR EM“ X Ce (0,m) Jitbh sin € >0," LA K“A e (0,
w), A5
2.8 (1) /NG 5355, RTEM“ X Be (0,m) ,ffLlsin B>0," I R“Ae (0,7),” 14
3. 55 (2) /N FHEAD T B 1 b, e MR, 45 50 1E B0 45 B8 015 Al 257 47
18. (1)3ER - AC =BC,D } AB iy /5., T €D 1 AB,
Y AE | 3 ABC,CD C Y- ABC L, JitLL AE 1 €D, (1 4))
Y AENAB =A AE ,ABC ¥ ABFE, fitLL CD 1 V-0 ABFE
V. DE C - ABFE ,Ji 1) CD 1| DE. (3 4})
i1 S LA KR AT 40 DF =245 ,DE =5 ,EF =5,
Fill DE* + DF* = EF° 7). DE | DF,
N CDNDF =D,CD ,DFC 1 CDF,FL)L DE | ST CDF. (5 43)

(2) file. th %0 €D = +/BC* —BD* =2 .5t D YE DM //AE 5 EF F M,
i DM L -1 ABC , "] 15 DM LAB,DM 1 CD,
Ll D HAHFRIE S DB, DC, DMEFT 54351 2 Bl TE 7 1608 7 0 R B 1025 1] B A ARAR 2, (7 4%)

W C(0,2,0),E( -2,0,1),F(2,0,4) FiCE=( -2, -2,1) ,CF=(2, -2.4),
VLT CEF f— A m = (x,y.2),
m-@:U,/ —2x -2y +2z=0,
) %{
m- CF=0, 2¢ -2y +4z =0.
Blx= 3,00 y=5z=4,Ffllm=(-3,5.4). (94})
i (1) BT CDF () — A5 HDE = ( -2,0,1), (10 43)
WM E-CF-DREmEMAN 6,2 0 HEiff,

|mﬁ\_ | -3 x( -2)+5x0+4x1| _«/m
5 -

M cos @ = ‘{305<m,ﬁ> = —— = =
lm || DE| V(=3)"+57 447 x /( =2)* +07 +1”

LA E - CF - D 00T A AR A0, (12 4)

[ %540 ]
LS5 (1) /N FHHA 5 32 C T 325 ) 3R I B9 1% 45 45
2. 55 (2) /MR - CDF ik e A E—, REi 5 m = ( -3,5,4) AT Rl 1557
3. 55 (2) /N s AN A ] o] s A, B 245 70 , G5 R L W A0 R DG TR MU 25396 -
19. fiff - (1) BoxX IR EEFER HA R Z Al X,
6 ><5 +10){12+8 ><9 _ 37
30 30 30 30 30 30 150°
IOXS +8 >‘:12:73
30 30 30 30 450°

m P(X=78) =

P(X=79) =
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P(X=80) =

5 4

30 ©30 ~90°

(5771)

FITLAX AR ALY H 8 B Z AT 78 SRy

P=P(X=78)

37 L3 4 34
150 450 90 75

+P(X=T79) +P(X =80) = (6 4%)

(2)24 n =37 i}, 4 H & PR ERIR R Z B2 10828 37 x 8 +37 x 7 =555 J6;(8 471)

4
30+38 ><7><(

X/ 555 > 3

[ 3FE42Am] )
1. 55 (1) /e
2. B 1) /hEr

] ——

1 642

4 n =38 [, 45 F 40 PR ERRESRI-Z A0 07 L4 (37 X8 =60) X == + 38 x 8 x (1 =

=—— JG,(11L43)

. 1 642 _
)=

30

JITVAES 0= 37 I, IR EE AR A Z F s ok (12 53)

1 SRXET P(X=78) ,AT45 2 43 3RA T P(X =79) ,TT44 2 43
o AR, BRI H AT BOERARTCUR, AL 4 S 5, 4 0 75

3. 5 (2) /N
20. i . (1) B ATFR

PERI I A OAB 355l =MIERT A, B PG 50T » HlIXTAK,

5 AOAB Jy 553 = BT, A OAB OB W | 48] =12,

A (12,4.3) 1 C B ARA Y =2px, 18 (4.3) =24p,
fiE5 p=2,039)

L € B4R ifE

JifER Y =4x. (4 43)

(2) (D) %0 F(L,0) ARG RS A F B AB BYRERA N 0,
BEHZL AB WA x =ky +m,A(x,,5,),B(%,,5,) , P(%0,%,) ,

Hﬁéﬁ{ |
y =4x

x=ky+m,

8 y° —4ky —4m =0,

FRLL A =16E" +16m >0, 80 B> +m >0, H v, +y, =4k,y,y, = —4m,
FRLL %, +x, =k(y, +y,) +2m =4k" +2m, (7 43)
HPA +PB =4 PF 15 (% =%,y —%0) + (% —%,¥, =%) =4(1 =%y, =%),

ﬁffu{
Y, Ty, =

4: “2:1[:{}, :1?{}22—11’1-*2;(2, .,
Fﬁw‘{ Bl P(2 -m -2k, =2Ek) ,(8 /)

}r{} - _2k?

—2yﬂ ]

NEPTEC | FLL4E =42 -m =-2E°) B 3k +m =2,(D
FRLE +m=K +2 -3 =2(1 -E) >0, B8 -1<k<1,
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